Answers and mark schemes
Year 1 Plants

Test 3 (end of topic) Area Mark Extra information
1a. Labels joined correctly KU 2 2 marks for all five correct
) 1 mark for two to four
correct
1b. It is winter/autumn. KU 1 Accept any suitable
The tree has died. reference to change in
season
Accept it is deciduous or it
has not had enough water
1c. They turn brown/change colour. KU 1 Accept any answer which
They die. indicates a physical
change
2. Name of any specific tree. KU 1 Accept any specific fruit
tree (e.g. apple)
Accept pine/Christmas tree
3a. Shows two leaves. A/WS 1
Shows five roots. 1
3b. Day Number of leaves Number of roots AWS 2 1 mark for dOU 2 correct
1 . 1 mark for day 4 correct
2 2 3
3
4 3 6
3c. It has grown. It is longer. A 1 Accept any reference to the
stem being longer than day
2 or shorter than day 4
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